HE3X WMTFRMHHEERCHELG, Fi (3X2) MAD - #Rux

BEFRAN
i) T ¥ £l HEHERIBR K % Z 155 ARNE | 15~645% | 65 E
% S 71,165 | 179,548 | 91,007 | 88,451 | 24,648 | 132,523 | 22,377
# H » K W 4,140 | 11,435 5, 146 5,689 1,651 8, 647 1,137
X Il i) 639 1, 841 948 893 190 1,424 207
™ i i)y 241 429 281 148 39 335 55
= il % Wy 385 1,304 649 655 364 858 82
ol # Hy 2,020 5,321 2,653 2, 674 533 3, 940 854
BoE N E 1T E 572 1,263 631 632 114 868 281
® R o) B2 T H 597 1, 417 681 136 212 960 245
w R )1 B 3 T H 1, 856 4,297 2,183 2,114 656 3,029 612
wm R nwE 5 T H 1,211 2,879 1,495 1,384 254 2,093 532
iz & i) 1,091 2, 683 1,430 1,253 294 1,992 397
TR ULEAELTH 331 949 475 467 109 656 177
TR LA 2TH 345 931 463 468 65 691 175
TR LA 3TEH 409 1,117 526 591 105 809 203
T’ LA 4 TH 518 1,409 695 714 133 1,036 240
ZTW LA S5 TH 380 1,080 536 h44d 81 847 152
ZTwr LA 6 TH 134 2,181 1,074 1, 107 181 1, 654 346
B % & 1 T B 494 1,344 674 670 133 981 230
e H & 2 T H 655 1,901 959 942 241 1,411 249
B H & 3 T H 413 1,027 518 509 119 780 128
% H & 4 T H 398 1,180 609 571 256 862 62
® #H & 5 T H 355 959 489 470 106 770 83
e % & 6 T H 534 1,400 15 685 184 1,113 103
£ H & 7 T BH 200 558 287 271 78 421 59
£ #H & 8 T H 609 1,916 957 959 388 1,399 129
2 o&E N AR 1 TAH 1, 848 4, 842 2,403 2,439 664 3,568 610
xo&E N AR 2 TAH 2,261 5, 887 2,898 2, 989 905 4,345 637
= il iy 938 2, 545 1,326 1,219 318 1,984 243
N H BT 336 702 343 359 84 432 186
& & B 1 T H 318 910 469 441 108 627 175
g2 @ B 2 T H 659 1,434 746 688 145 1,048 241
F i i) 2,513 6, 255 3,402 2,853 880 | . 4,798 5717
& 13 Y 2,798 7,750 3,906 3, 844 944 5,611 1,195
;3 1t i) 1,097 2,179 1,410 1,369 431 1,950 398
75 N H ) 954 2,313 1,126 1,187 279 [, 739 295




H3&xk WTEIHERKROCBLE, £ (3X7) MAD - #ZRIK (@)

Uiy T ¥ % |EEHE|E XK 5B z 155%skE | 15~645% | 6538 L
P BT 2,351 6, 375 3,198 3, 171 699 4,768 908
1t =] BT 306 722 345 377 105 443 174
1t & Hy 1,150 2, 880 1,483 1, 407 420 2,119 351
£ ®| 1 T 8 471 994 4717 517 104 654 236
£ B 2 T B 605 1, 245 617 628 181 874 190
£ B 3 T H 640 1, 454 67 687 224 1,000 230
it ®B 4 T H 374 904 4217 477 93 598 213
£ B 5 T H 297 706 329 377 80 446 180
1t 2 Il 8 10 7 3 1 8 |
1t A Nl 1 993 2,615 1,333 1, 282 324 1,975 316
(4 7 Jil 2 1,423 3,669 1,786 1, 883 512 2,693 464
1t 7} Jil 3 627 1,658 835 823 215 1, 256 187
® ORI 4 812 9,141 1,026| 1,115 354 1,549 938
1t R i 5 113 282 144 138 39 214 29
b(3 7} i 6 586 1,550 763 787 204 1,112 234
yi 5, il 7 834 1,898 923 975 213 I, 366 319
1t A Jil 8 677 1,818 896 922 215 1,388 215
1t R J 9 1,122 2, 359 1,132 1,221 352 1,717 290
# ¥ NN 1 T B 1,378 3,210 1,618 1,592 417 2,299 494
 OE ¥ 2 T H 792 1,928 980 948 208 1,356 364
® ¥ N 3 T H 1,270 3,264 1, 640 1,624 358 2,398 508
® E B 4 T H 1,726 4,295 2,139 2, 156 611 3,055 629
¥ ¥ F 5 T H 4,232 1 10,588 5,280 5,308 1,550 7,907 1,131
¥ % BH 6 T H 948 1,929 1,005 924 164 1,373 392
= R & % 1 T H 1,235 2,620 1, 454 1, 166 480 2,044 96
H O% & &% 2 T B 1,956 3,862 2,123 1,739 588 3,110 164
® % & % 3 T B 1,174 2,518 1,388 [, 130 417 1, 946 155
B R A K 4 T B 4491 1,079 545 534 202 817 60
B R & % 5 T H 1,015 2,151 1,186 965 413 1, 671 67
E & & % 6 T B 877 1,853 976 877 307 1,478 68
B R & % 7 T B 1,825 4,333 2,359 1,974 843 3,299 191
m £ B 1 T BH 856 1,785 908 8717 159 1,167 459
Mmoot B 2 T H 326 523 280 243 47 414 62
= % K& 1 T B 661 1, 941 972 969 287 1,504 150
"= B KB 2 T H 275 122 365 857 116 530 6
2 % K 3 T H 299 739 356 383 55 491 193
T % KA 4 T B 335 873 440 433 88 606 179




B3FE WMTEIMERECEL, i (3K MAD - wrux @)

iy T F % | HERIBE K B i 5hEseis | 15~645% | 655880 &
R 1 T B 318 1,005 515 490 308 662 35
WM 2 T H 684 2,061 1,025 1,036 529 1, 451 81
w M 3 T H 308 934 4671 467 251 651 32
B = oy 1,420 3,898 1,958 1,940 469 2,864 565
1t =] B 568 1,910 927 983 202 1,572 136




